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& HBREE Chain Sag
. E HENER(SSVBEE VEBEEMNI%, THIEALTHERE  The amount of chain sag (SS') is generally 4% of the
;g ; N AHEEH2%, span. The sag should be 2% of the span for the following
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b & (2) BHMIEE (1) Drive arrangements are vertical or similar.
] (3) HEFIL')EEj;:_H 7!( (2) Heavy load and frequent starts.
Es 4 e - (3) Shaft center distance is more than one meter.
o (4) %%E/ﬁj‘i@—l? ﬁ@: . . i (4) Travel direction of chain is often reversed.
ﬁ‘ﬂ%%%@k : ’Eﬁﬁ“ﬂm‘m*ﬁg%bﬁa AN |n case chain elongates, the center distance is adjusted
OEESMNE—AREH2%, R T] A {E IR 2 FiME. by moving one shaft. It is convenient, therefore, that

one shaft is made movable from the center distance
by two percent.
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Aligning Shafts and Sprockets

The distance D of two shafts should be the same and
the two shafts should be aligned horizontally. Apply
a straight edge to the sprocket surfaces to see if two
sprockets are in the same plane.
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